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QUESTION 1

Refer to the exhibits. Exhibit 1 

Exhibit 2 

A company has a Mobility Master (MM)-based solution with a guest WLAN. Users can connect to the WLAN, but they
receive the error shown browser rather than see login page. Exhibit 2 shows the status for one of the guest clients. 

What is one issue that could cause the errors described? 

A. The firewall blocks DHCP traffic between the guest clients and the DHCP server. 

B. The DHCP pool for guests does not assign users a DNS server address. 

C. The MM and Mobility Controllers (MCs) have invalid certificates. 

D. The Captive Portal is not enabled for the role to which these clients are assigned. 

Correct Answer: B 

 

QUESTION 2

Refer to the exhibits. Exhibit 1 
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Exhibit 2 

A company has an Aruba Mobility Master (MM)-based solution and needs a new WLAN for the corporate campus. A
network administrator completes the creation of this WLAN, as shown in Exhibit 1. When the administrator tries to test a
connection to the WLAN in various locations, the WLAN sometimes shows up in the list of WLANs on the client but
sometimes does not. The administrator can see the WLAN in the list, as shown in Exhibit 2. 

What is the error? 

A. The Mobility Master (MM) does not have an active PEFNG license. 

B. The WLAN is configured as a hidden SSID. 

C. The configuration is not deployed to the Mobility Controller (MC). 

D. The WLAN is configured at a lower level in the Managed Network hierarchy. 

Correct Answer: D 

 

QUESTION 3

A network administratpr adds several new APs to an Aruba solution that uses AirMatch. The administrator does not
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want to change the channel for the existing APs, but wants the new APs to receive a provisional plan for their channels
and power. 

What should the administrator do to meet this goal? 

A. Run an on-demand quick AirMatch optimization. 

B. Run an on-demand incremental AirMatch optimization. 

C. Temporarily enable ARM on the existing and new APs, while AirMatch scheduling remains enabled. 

D. Temporarily disable AirMatch scheduling, and then enable ARM on the existing and new APs. 

Correct Answer: B 

 

QUESTION 4

What does an Aruba Mobility Master (MM) do before it deploys a configuration to a Mobility Controller (MC)? 

A. It encrypts the configuration to be deployed and backs it up to a secure archive. 

B. It obtains the current configuration, encrypts it, and backs it up to a secure archive. 

C. It synchronizes the configuration with templates on Aruba AirWave. 

D. It removes any commands that are not supported on that MC or have dependency errors. 

Correct Answer: C 

 

QUESTION 5

A company has an Aruba solution with a guest WLAN named exam_guest. A network administrator creates the guest
WLAN with the wizard and does not change any of the default roles. The authentication server does not send particular
role assignments for authorized users. The company wants to deny guest access to specific IP rnages after the guests
authenticate. 

For which role should the administrator create the rule to deny this traffic? 

A. exam_guest-guest-logon 

B. authorized 

C. guest-logon 

D. guest 

Correct Answer: D 
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